HIGH PERFORMANCE VANE PUMP VT6CSH

VIGCSH W * - 022 - 1 R 00 - B 1- 00 *

I—— Modifications

Mounting W/connection variables

Series

Use for severe duty shaft only

UNC METRIC

One letter can be added to 00 [ o1 Mo [ M1
specify special parts in series P 1" [3/4" 1" [3/4"

s 1
Cam ring
Volumetric displacement cm3/rev (in¥/rev) Seal cl
*003/B03/Y03 = 10.8 (0.66) 015/B15/Y15 = 50.5 (3.08) 1 - 81 (for mineral oil)
005/B05/Y05 = 17.2(1.05)  017/B17/Y17 = 58.3 (3.56) 4 -S4 (for fire resistant fluids)

(
(
006/B06/Y06 = 21.3(1.30)  020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61 022/B22/Y22 = 70.3 (4.29)

(

(

(

)

; 5 - S5 (for mineral oil and fire resistant fluids)
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84)

)

)

012/B12/Y12 = 37.1 (2.26 028/B28/Y28 = 88.8 (5.42) L Design letter
014/B14/Y14 = 46.0 (2.81 031/B31/Y31 = 100.0 (6.10)

Porting combination
*'0'-  Uni-directional 'B'- Bi-directional 'Y'- Bi- directional

for cold start 00 - standard
Type of shaft OFO :): (:2 ops
1 - Keyed (SAE B) e o
3 - Splined (SAE B) (o> ¢ s s
4 - Splined (SAE BB) = — — —
Severe duty shaft VT6CSHW S- Suction port P- Pressure port
5 - Keyed (SAE BB) Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)

VT6CSH - 022
69 24 24 cst 7
— — 10cst
5521 =

Inlet pressure 0.9 bar abs

Viscosity 32 cSt

n = 1000 RPM

— — n = 1500 RPM -4
Lw = Lp + 8 db (A) -~

(5.0018

65 =
(4.0)15

3.0 12 V4

(20) 9

60
(1.5) 6

— // /
bV

P L
~

T

0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240

(145) (725) (1500) (2000) (2500) (3000) (3500)
(500) (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)
(2175) (2700)

(1.0) 3

Internal leakage Qs in Ipm (Gpm)
\
\
Lp. Noise level {db(A)} 1M ISO 4412
\

Pressure in bar (psi)
Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

PERMISSIBLE RADIAL LOAD

HYDROMECHANICAL POWER LOSS (TYPICAL) (204) 900
5
- — n=2200 rpm (181) 800
— — n = 1500 rpm (24 cSt) —_
4 n = tooorem 8 (e0) 700 . Fa
g = Shaft keyed N° 1
e 4 (136) 600
g c
l 3 -
@ w (113 500
o _ - - K
5 = | T o () 400
5 22—+ S /
g (68) 300
o N [ [
B = = — — @5) 200
____—-——-’-
@2 100
0
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800
(500)  (1000)  (1500) (2000) (2500) (3000) (3500)  (4000)
(2175)  (2700) Speed (rpm)

Maximum axial load permissible Fa = 800 N (180 Lbs)
Pressure in bar (psi)

Note: Product details are liable to change without any notice SP -08




HIGH PERFORMANCE VANE PUMP VT6CSH

1.60
3/8-16UNCx0.75 DEEP-4 HOLES 0.50 (40.7)
(M10x19.0 DEEP) (12.7) 0.31 179
1.41 B (7.9) (5.5) 2.81
@5.8) = (71.4)
-4 28 0.31
(7' 9) KEY 0.250/0.248
4 ’ (6.35/6.30)
N N 1.
0.965 (3:(1’) M8x0.63 DEEP
(24.5) é ’ (16.0)
ke % ‘
RIS - — : 4 - —
S T
0.06x45° 0.06x45° =~
0.06x45° <8
0! ) —_————
(1.5x45%) (1.5x45%) 0 5x45% NI g _
SI¥ ol
Oy K%
Shaft code 3 Shaft code 4 g8 38
SAE B splined shaft SAE BB splined shaft SIR
\ 150 Class 1-J498b Class 1-J498b SII:aft E |~
. (Keyed SAE B)
@8.1) 16/32 dp. 13 teeth 16/32 dp. 15 teeth
1/2-13UNCx0.88 DEEP-4 HOLES 30° pressure angle 30° pressure angle
(M12x22.4 DEEP) flat root side fit flat root side fit
6.63 2.81 6.87
(168.5) (71.4) (174.5)
3.24 150 5.75
(82.3) (38.1) 0.38 (146.0)
0.31 9.7) 2.875
‘ (7.9) (73.0)
: : 0.25 MAX KEY 0.250/0.248 |
—1_ — || (639 /" (6.35/6.30)
g|§ | 1.50_ 7 M8x0.63 DEEP
Al 1 (38.1) / (16.0)

| / 28
—_ [=2) Bkl
s L | .1/ A = go 3z
i = — 88 gz
45
—~ 5 Q| = —
ooeas | 3|5 = = ¢
- (1.5x45°) olg =|§ =
a - 3l =g ]
S al¥ ~|¢
— - |0
gl
0.05x45° VT6CSHW N\ . J
\ (1.3x45°) \
MOUNTING TORQUE 138 ft.lbs Shaft code 5 Shaft torque limits in3/rev x psi (ml/rev x bar]
(180 Nm) (Keyed SAE BB) Shaft Vp x p max.
1 14473 (16500)
o o 5 3 18246 (20600)
4 19309 (21821)
0.75 (19.05) | 1.87 (47.6) 0.87 (22.2) 5 18945 (21420)
1.00 (25.4) 2.06 (52.4) 1.03 (26.2)
OPERATING CHARACTERISTICS - TYPICAL (24 cST)
Pressure Volumetric Flow q & n = 1500 rpm [ Input power p & n = 1500 rpm |
it |Serie Displacement Vp|p = o bar (0 psi)| p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)lp = 140 bar (2000 psi)|p = 240 bar (3500 psi)|
po inrev | cmerev | gpm [ lpm | gpm [ tpm | gpm [ Ipm ho | kw hp hw ho [ kw
003 0.66 10.8 429 | 16.2| 296 1.2 2.04 7.7 174 | 1.3 7.11 53 | 11.26 8.4
005 1.05 17.2 6.83 | 25.8| 5.50 20.8 457 | 173 1.88 | 1.4 10.06 75 | 1636 | 122
006 1.30 21.3 8.44 | 31.9| 7.11 26.9 6.19 | 234 201 | 15 11.94 89 | 19.71 | 147
008 1.61 26.4 10.48 | 39.6] 9.15 34.6 8.22 31.1 215 | 1.6 14.35 10.7 | 2293 | 17.7
010 2.08 341 |1352 | 51.1] 12.19 461 | 11.26 | 426 228 | 1.7 18.64 134 | 2990 | 223
012 2.26 371 | 14.71| 556/ 13.36 506 | 12.46 | 47.1 228 | 1.7 19.31 14.4 | 3232 | 241
VT6CSH | 014 2.81 46.0 [18.25| 69.0] 16.93 640 | 16.00 | 60.5 255 | 1.9 | 23.60 176 | 3956 | 295
015 3.08 505 |20.00| 75.6] 18.73 732 | 19.02 | 675 268 | 20 25.61 19.1 | 4291 | 32,0
017 3.56 583 |23.12 | 87.4] 21.79 824 | 2087 | 78.9 2.82 | 21 | 29.37 21.9 | 4948 | 36.9
020 3.89 63.8 [2532 | 95.7| 23.99 90.7 | 23.07 | 872 295 | 22 | 31.92 238 | 5391 | 40.2
022 4.29 703 |27.88 | 105.4| 26,56 | 1004 | 2563 | 969 308 | 23 | 35.00 261 | 59.14 | 44.1
025" | 4.84 793 |31.46 | 118.9] 30.13 | 1139 | 2921 | 1104 335 | 25 | 39.16 29.2 | 66.38 | 495
028"% 542 88.8 |35.24 | 133.2] 33.92 | 128.2 | 3328 |125.8 375 | 28 | 43.85 32.7 | 65.04 | 485
031"?] 6.10 100.0 | 39.68 | 150.0| 38.35 1450 | 37.72 | 1426 375 | 28 48.95 365 | 72.95 | 54.4
1) 025-028-031 = 2500 RPM. max. 2) 028-031= 210 bar (3000 psi) max. int.

m Note: Product details are liable to change without any notice




